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Math 422 Mrs. Quinn
Geometry Test
“Magelof 5
1. Inthe diagram shown mZEFG =12x+17, (3 pts)

mZFED =8x and mZEDF =45 . Solve for x:

5}))‘,’ (/_j_ _.}2-)< =17)
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2. Given aregular 14 sided polygon:
a. Find the sum of the interior angles of the polygon. (2 pts)

(12)(150) = 2 160

b. Find the measure of one exterior angle of the polygon (2 pts)

05,71

3. Write the expression in simplest form: (4 pts)
x* —9x+18

(n- - )
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4. If the three angles of a triangle measure 7x — 15, 2x + 30 and 4x + 35, solve for the measure of the
largest angle.

V&% e -l &D
)X +502/8D
12 =13

7015< 5S
20Fi0”% 56
#or3s ( QO

X =10

(4 pts)
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5. Solve; x——=—-— S
x 2
2T _ [ e .H_‘\
:? % &
I A R '\3(5- Fy
?)(2 f'cﬁ'?("fk 7 n . B A
(2x- 3)x *@ze T2
_ (5 pts)
6. Each interior angle of a regular polygon measures 140°. How many sides does the polygon have?
R
(3 pts)

7. Cis the midpoint of AB. If AB=4x—-12and CB = x+2, solve for x. (draw a diagram to help you)

X2 = 2% G ) _

TN

‘H"“---.-._

(2 pts)

8. The supplement of an angle is 24 less than twice the angle. What is the measure of the angle and its

supplement? V60 X = 229
z oY =3X

@:% =X
150" 8= (12

(3 pts)
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(9. Inthe diagram, OT bisects LSOU , mZUQV =25 , and mZYOW =140.Find the measure of each of the
following angles.

a mZLZOY Q f

b. msSOU 4o

c. msZUOT "70

a mevow <

(1 pt each)

10. In the diagram shown below, AF || BC and AE |CD. Solve for x and Y. (4 pts)

x427=7¢  lovty = iE0

X2 49
3 =76

11. a) Write the converse of “If x is odd, then 2x is even.” 1% 2% rsecen dhom X sy el

b} Is the sentence you wrote in part a true or false? If it is false, give a counter example?

it
fe! DS (4 pts)
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Complete each of the following sentences with Always, Sometimes or Never: (1 pt each)
12. Two lines which never intersect are W% parallel.

13. The measure of an exterior angle of a triangle is Pr larger than the measure of each
remote interior angle.

14. If two lines are cut by a transversal and same-side interior angles are complementary the lines are

parallel.
15. A triangle N / has two obtuse interior angles.
16. If two lines are pa.ra.llql to the same line, then the two lines are ' /) parallel to each other.
LS
17.1f pAgis false and pistruethan (parg)-—>gis Y false.
R ‘
Multiple Choice: Circle the best answer for each question: (1 pts each) Sh 15

18. If two angles of a triangle measure 56 and 68 degrees, the triangle is: } §_f°‘: ) f)

a. Obtuse Q;osceles c. scalene d. right 0T * A
19. The measure of an exterior angle of a triangle cannot be: o

a. Exactly 90 b. Between 90 and 180 ¢. less than 90 \ cb igreater than 180

20. <1 and <2 are complementary, m<1= 5x + 15 and m<2 = 10x, what is the measure of <1?
d. 70

1§x =
AR
21 Which is not a way to prove two lines cut by a transversal are paraliell: _
a. Vertical angles being congruent b. Corresponding angles being congruent

¢. Alternate int. angles being congruent d. Same-side int. angles being supplementary
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(" “athe diagram shown, BG bisects AF and CDbisects ZADE . State the definition, postulate or theorem
chat justifies each statement. (1 pt each)

"y

22. AD+DF=AF  Sepme¥ A

B
23. mLADC =%m4ADE o e wsodhe! T

24. Dis the midpoint of AF . M 5@5“?”)* bisectpr .
25. mzADB=msFDG Vet ¥

26. Fill in the missing reasons for the following proof. (4 pts)
Given: /lis supplementary to /3

£2is supplementary to £3 i
i /
37

Prove; L1z 22

Statements Reasons
1. Zlis supplementary to £3 1.Given
Z2is supplementary to £3
, mL+mZ3=180 2. M&J\JF@OMM'&?&J ¥
mL2+mZ3=180
3. mA+mZ3=mL2+mL3 3. hpnd b P & J\bbi‘"f‘;"hfﬁm-’
4. M 2 X g 4 Reflexive Property
3. mLl=mL2 5. U dBweits S
. . 107 aow S 4
Name the theorem that you just proved (2 pts): P h
s
_ s Jood T
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Bonus: Solve for x and y.
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